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1.  (A) Discuss the impact of economic reforms and globalization on labour. 14

(B)

2. (A)

(B)
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OR

Explain the characteristics of labour and also discuss labour problems in India.

Write in one or two lines : (any Four) 4
(1) Define labour economics.
(2) What is scope of labour economics ?
(3) Define labour.
(4) Specify the factors giving rise to labour problems.
(5) Differentiate between labour market and commodity market.
(6) What is the significance of labour ?
Discuss the recommendations of second National Commission on labour. 14
OR
Do you think that labour market flexibility is necessary in present time ? Why ?
Write in one or two lines : (any Four) 4
(1)  What is the nature of labourers’ migration ?
(2) What is the effect of migration ?
(3) Define rationalisation.
(4) Give definition of labourers’ absenteeism.
(5) Specify the term labour turnover.
(6)  Write the formula for measuring labour turnover.
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3. (A) Write an essay on ‘Wage Differential’. 14

(B)

4. (A

(B)
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OR

Critically evaluate the marginal productivity theory of wage determination.

Write in one or two lines : (any Three) 3
(1) State Iron Law of wages.

(2) Define Minimum wage.

(3) Define Living wage.

(4) What is wage fund theory ?

(5) What is Residual claimant theory of wages ?

Discuss the meaning, nature and objectives of collective bargaining. 14

OR

Critically evaluate the workers participation in India.

Write in one or two lines : (any Three) 3
(1)  What are the different models of workers participation ?

(2) Define Workers’ participation.

(3) What do you mean by collective bargaining ?

(4) What are the objectives of unions in collective bargaining ?

(5) Specify the determinants of unions’ goals in collective bargaining.
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1. (A)
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2. (A)
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Indicate Matrix form of bivariate linear regression model y = a + Bx + u. What
are the reasons for inclusion of the error term ‘u’ in the bivariate linear regression

model y = o + Bx + u ? Discuss. 14
OR
(1) Using following information obtain the least square estimates for bivariate
linear regression model y = o + Bx + u. 7

x |2 3 5 4 11 |5

y |20 |25 (34 |30 |40 |31

(2) Assumptions of least square method. 7
(1)  Write any one definition of econometrics. 4
(2) Give definition of error term.

(3) Whatis linearity ?

(4) State full form of BLUE.

Discuss the effects of multicollinearity on the properties of the least square
estimators. 14

OR
Write a Short note :
(1)  Any two detection methods for existence of autocorrelation.
(2) Effects of heteroscedasticity.
(1) State the meaning of ‘perfect’ and ‘high’ multicollinearity. 4
(2) What is autocorrelation ?
(3) Give definition of heteroscedasticity.

(4) Mention any two detection methods for existence of heteroscedasticity.
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Give meaning of dummy variable and explain use of dummy variable
econometrics using examples.

OR
Write Short Note :
(1) Engel-Granger Test
(2) Vector Auto Regressive (VAR) Model

(1) What is random walk model ?
(2) Give definition of co-integration.

(3) State full form of ARIMA.

Explain simultaneous equation model with its assumptions and example.
OR
Explain in detail Two Stage Least Square (2LS) method with its assumptions.

(1)  What is inconsistency assumption ?
(2) Briefly indicate recursive method.

(3) Describe difference between least square and indirect least square method.
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1. Characteristics, role and realistic failures of market.
OR

Explain the concepts of economic development, economic growth and economic
progress. Discuss the classical and moden models of economic development.

OR

What is consumption function ? Mention the Keyancian concept of consumption
function and compare with the Milton Friedman’s theory.

2. What is money ? Explain the equation of exchange and permanent income as quantity
theory of money.

OR

Explain the various concepts of consumer surplus and prove that consumer is always
superior in the market.

OR

Explain the meaning of globalisation, liberalization and privatization. Critically explain
the globalization, liberalization and privatization policies.
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